
MATH 310: Groupwork 22 Solutions Thursday 8/9/2012

1. Show that
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converges to 2.

Idea: We need to show that for any ǫ we can find some N so that n > N implies
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Proof: Given ǫ we let N = ⌈ 1/ǫ−1
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2. Show that
{

2

3n+1

}

converges to 0.

Idea: We need to show that for any ǫ we can find some N so that n > N implies

∣

∣

∣

2

3n + 1
− 0

∣

∣

∣
< ǫ

2

3n + 1
< ǫ

3n + 1 > 2/ǫ

3n > 2/ǫ− 1

n > log3(2/ǫ− 1)

Proof: Given ǫ we let N = ⌈log3(2/ǫ− 1)⌉. Then if n > N we have
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3. Show that
{

2 + 5
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n2 + 10

n3

}

converges to 2.

Idea: We need to show that for any ǫ we can find some N so that n > N implies
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so it sufficies to get 16

n < ǫ which we can get with n > 16

ǫ .

Proof: Given ǫ we let N = ⌈16/ǫ. Then if n > N we have
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as desired.


